

DISTRICT 2 W 16162K NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	DISTRICT 2 W 16162K NON-FEDERAL February 24, 2022, Resurfacing of various routes throughout District 2 September 23, 2022 Sullivan, Grafton, District 2, Merrimack	Awarded To: Amount: Award Date:	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220 \$3,064,571.50	PETER.E.STAMNAS Director of Project Development	
		Summary of Bidders			
Contractor				Bid Amount	Rank
PIKE INDUSTRIES, IN 3 EASTGATE PARI	C. K ROAD, BELMONT NH 03220			\$3,064,571.50	A
GMI ASPHALT LLC 288 LACONIA ROA	D, BELMONT NH 03220			\$3,336,714.92	В
CONTINENTAL PAVIN 1 CONTINENTAL D	G INC RIVE, LONDONDERRY NH 03053			\$3,479,376.91	С



DISTRICT 2 W

16162K

				PS&E		3 EASTGAT	JSTRIES, INC. TE PARK ROAD IT, NH 03220	288 LAC	PHALT LLC DNIA ROAD T, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

206.1	COMMON STRUCTURE EXCAVATION	СҮ	2.70	\$500.00	\$1,350.00	\$1,200.00	\$3,240.00	\$4,052.81	\$10,942.59
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	6,492.00	\$20.00	\$129,840.00	\$27.00	\$175,284.00	\$27.52	\$178,659.84
403.11953	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	281.00	\$156.83	\$44,069.23	\$88.00	\$24,728.00	\$91.26	\$25,644.06
403.12	HBP-HAND METHOD	TON	43.50	\$80.00	\$3,480.00	\$200.00	\$8,700.00	\$147.74	\$6,426.69
403.16	PAVEMENT JOINT ADHESIVE	LF	1,664.00	\$0.25	\$416.00	\$0.50	\$832.00	\$1.37	\$2,279.68
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	20,792.00	\$3.50	\$72,772.00	\$3.50	\$72,772.00	\$4.35	\$90,445.20
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	29,064.50	\$65.40	\$1,900,818.30	\$73.00	\$2,121,708.50	\$78.50	\$2,281,563.25
417.	COLD PLANING BITUMINOUS SURFACES	SY	15,598.00	\$2.25	\$35,095.50	\$2.15	\$33,535.70	\$4.07	\$63,483.86
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,454.00	\$2.25	\$10,021.50	\$1.00	\$4,454.00	\$4.58	\$20,399.32
604.0007	POLYETHYLENE LINER	EA	27.00	\$138.00	\$3,726.00	\$125.00	\$3,375.00	\$146.64	\$3,959.28
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	21.00	\$500.00	\$10,500.00	\$500.00	\$10,500.00	\$868.46	\$18,237.66
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$800.00	\$4,000.00	\$600.00	\$3,000.00	\$1,169.52	\$5,847.60
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$850.00	\$850.00	\$2,500.00	\$2,500.00	\$891.62	\$891.62
608.2401	4" CONCRETE SIDEWALK	SY	29.50	\$100.00	\$2,950.00	\$150.00	\$4,425.00	\$173.69	\$5,123.86
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	4.60	\$455.00	\$2,093.00	\$450.00	\$2,070.00	\$521.08	\$2,396.97
618.7	FLAGGERS	HR	1,550.00	\$38.00	\$58,900.00	\$42.00	\$65,100.00	\$50.20	\$77,810.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$75,000.00	\$75,000.00	\$40,000.00	\$40,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,400.00	\$2,800.00	\$1,500.00	\$3,000.00	\$2,315.89	\$4,631.78
628.1	SAWED CONCRETE PAVEMENT	LF	33.60	\$10.00	\$336.00	\$20.00	\$672.00	\$23.16	\$778.18
628.2	SAWED BITUMINOUS PAVEMENT	LF	64.50	\$5.00	\$322.50	\$15.00	\$967.50	\$17.37	\$1,120.37
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,547,614.00	\$0.19	\$294,046.66	\$0.15	\$232,142.10	\$0.19	\$294,046.66
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	143.20	\$1.74	\$249.17	\$1.00	\$143.20	\$2.32	\$332.22
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	196.00	\$6.31	\$1,236.76	\$4.00	\$784.00	\$9.26	\$1,814.96



**DISTRICT 2 W** 

16162K

NON-FEDERAL

					PS&E	3 EASTGA	DUSTRIES, INC. ITE PARK ROAD NT, NH 03220	288 LA	SPHALT LLC CONIA ROAD NT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,432.00	\$2.09	\$2,992.88	\$1.50	\$2,148.00	\$1.74	\$2,491.68
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	160.00	\$2.02	\$323.20	\$2.00	\$320.00	\$2.32	\$371.20
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	196.00	\$6.92	\$1,356.32	\$4.00	\$784.00	\$4.63	\$907.48
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	56.30	\$10.28	\$578.76	\$9.00	\$506.70	\$10.42	\$586.65
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,592.00	\$0.99	\$1,576.08	\$2.00	\$3,184.00	\$1.16	\$1,846.72
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	196.00	\$6.34	\$1,242.64	\$3.00	\$588.00	\$2.32	\$454.72
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	56.30	\$4.23	\$238.15	\$6.00	\$337.80	\$4.63	\$260.67
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	6.20	\$23.21	\$143.90	\$100.00	\$620.00	\$130.67	\$810.15
692.	MOBILIZATION	U	1.00	\$110,000.00	\$110,000.00	\$75,000.00	\$75,000.00	\$60,000.00	\$60,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,150.00	\$1.00	\$2,150.00	\$1.00	\$2,150.00	\$1.00	\$2,150.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
			Totals:		\$2,860,474.55		\$3,064,571.50		\$3,336,714.92
			Alt. Totals:						
			Totals:		\$2,860,474.55		\$3,064,571.50		\$3,336,714.92



DISTRICT 2 W

16162K

NON-FEDERAL

				F	°S&E	1 CONTIN	AL PAVING INC ENTAL DRIVE RRY, NH 03053		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

·								
206.1	COMMON STRUCTURE EXCAVATION	CY	2.70	\$500.00	\$1,350.00	\$100.00	\$270.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	6,492.00	\$20.00	\$129,840.00	\$25.00	\$162,300.00	
403.11953	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	281.00	\$156.83	\$44,069.23	\$92.00	\$25,852.00	
403.12	HBP-HAND METHOD	TON	43.50	\$80.00	\$3,480.00	\$140.00	\$6,090.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	1,664.00	\$0.25	\$416.00	\$0.25	\$416.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	20,792.00	\$3.50	\$72,772.00	\$4.25	\$88,366.00	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	29,064.50	\$65.40	\$1,900,818.30	\$83.68	\$2,432,117.36	
417.	COLD PLANING BITUMINOUS SURFACES	SY	15,598.00	\$2.25	\$35,095.50	\$2.25	\$35,095.50	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,454.00	\$2.25	\$10,021.50	\$2.50	\$11,135.00	
604.0007	POLYETHYLENE LINER	EA	27.00	\$138.00	\$3,726.00	\$135.00	\$3,645.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	21.00	\$500.00	\$10,500.00	\$500.00	\$10,500.00	
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$800.00	\$4,000.00	\$800.00	\$4,000.00	
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$850.00	\$850.00	\$1,300.00	\$1,300.00	
608.2401	4" CONCRETE SIDEWALK	SY	29.50	\$100.00	\$2,950.00	\$50.00	\$1,475.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	4.60	\$455.00	\$2,093.00	\$500.00	\$2,300.00	
618.7	FLAGGERS	HR	1,550.00	\$38.00	\$58,900.00	\$47.55	\$73,702.50	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$100,000.00	\$100,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,400.00	\$2,800.00	\$500.00	\$1,000.00	
628.1	SAWED CONCRETE PAVEMENT	LF	33.60	\$10.00	\$336.00	\$4.00	\$134.40	
628.2	SAWED BITUMINOUS PAVEMENT	LF	64.50	\$5.00	\$322.50	\$4.00	\$258.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,547,614.00	\$0.19	\$294,046.66	\$0.18	\$278,570.52	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	143.20	\$1.74	\$249.17	\$2.00	\$286.40	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	196.00	\$6.31	\$1,236.76	\$8.00	\$1,568.00	



DISTRICT 2 W

16162K

NON-FEDERAL

					PS&E	1 CONTIN	TAL PAVING INC NENTAL DRIVE ERRY, NH 03053		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,432.00	\$2.09	\$2,992.88	\$1.65	\$2,362.80		
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	160.00	\$2.02	\$323.20	\$2.20	\$352.00		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	196.00	\$6.92	\$1,356.32	\$4.40	\$862.40		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	56.30	\$10.28	\$578.76	\$9.90	\$557.37		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,592.00	\$0.99	\$1,576.08	\$1.10	\$1,751.20		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	196.00	\$6.34	\$1,242.64	\$1.10	\$215.60		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	56.30	\$4.23	\$238.15	\$2.20	\$123.86		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	6.20	\$23.21	\$143.90	\$100.00	\$620.00		
692.	MOBILIZATION	U	1.00	\$110,000.00	\$110,000.00	\$100,000.00	\$100,000.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,150.00	\$1.00	\$2,150.00	\$1.00	\$2,150.00		
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00		
			Totals:		\$2,860,474.55		\$3,479,376.91		
			Alt. Totals:						
			Totals:		\$2,860,474.55		\$3,479,376.91	I	



DISTRICT 2 W 16162K

NON-FEDERAL

				A-Bid	der	PS	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
ltems								
206.1	COMMON STRUCTURE EXCAVATION	СҮ	2.70	\$1,200.00	\$3,240.00	\$500.00	\$1,350.00	\$1,890.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	6,492.00	\$27.00	\$175,284.00	\$20.00	\$129,840.00	\$45,444.00
403.11953	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	281.00	\$88.00	\$24,728.00	\$156.83	\$44,069.23	(\$19,341.23)
403.12	HBP-HAND METHOD	TON	43.50	\$200.00	\$8,700.00	\$80.00	\$3,480.00	\$5,220.00
403.16	PAVEMENT JOINT ADHESIVE	LF	1,664.00	\$0.50	\$832.00	\$0.25	\$416.00	\$416.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	20,792.00	\$3.50	\$72,772.00	\$3.50	\$72,772.00	\$0.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	29,064.50	\$73.00	\$2,121,708.50	\$65.40	\$1,900,818.30	\$220,890.20
417.	COLD PLANING BITUMINOUS SURFACES	SY	15,598.00	\$2.15	\$33,535.70	\$2.25	\$35,095.50	(\$1,559.80)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,454.00	\$1.00	\$4,454.00	\$2.25	\$10,021.50	(\$5,567.50)
604.0007	POLYETHYLENE LINER	EA	27.00	\$125.00	\$3,375.00	\$138.00	\$3,726.00	(\$351.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	21.00	\$500.00	\$10,500.00	\$500.00	\$10,500.00	\$0.00
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$600.00	\$3,000.00	\$800.00	\$4,000.00	(\$1,000.00)
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$2,500.00	\$2,500.00	\$850.00	\$850.00	\$1,650.00
608.2401	4" CONCRETE SIDEWALK	SY	29.50	\$150.00	\$4,425.00	\$100.00	\$2,950.00	\$1,475.00



DISTRICT 2 W 16162K NON-FEDERAL

				A-Bide	der	PS8	λΕ.	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	4.60	\$450.00	\$2,070.00	\$455.00	\$2,093.00	(\$23.00)
618.7	FLAGGERS	HR	1,550.00	\$42.00	\$65,100.00	\$38.00	\$58,900.00	\$6,200.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$30,000.00	\$30,000.00	\$45,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,500.00	\$3,000.00	\$1,400.00	\$2,800.00	\$200.00
628.1	SAWED CONCRETE PAVEMENT	LF	33.60	\$20.00	\$672.00	\$10.00	\$336.00	\$336.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	64.50	\$15.00	\$967.50	\$5.00	\$322.50	\$645.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,547,614.00	\$0.15	\$232,142.10	\$0.19	\$294,046.66	(\$61,904.56)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	143.20	\$1.00	\$143.20	\$1.74	\$249.17	(\$105.97)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	196.00	\$4.00	\$784.00	\$6.31	\$1,236.76	(\$452.76)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,432.00	\$1.50	\$2,148.00	\$2.09	\$2,992.88	(\$844.88)
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	160.00	\$2.00	\$320.00	\$2.02	\$323.20	(\$3.20)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	196.00	\$4.00	\$784.00	\$6.92	\$1,356.32	(\$572.32)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	56.30	\$9.00	\$506.70	\$10.28	\$578.76	(\$72.06)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,592.00	\$2.00	\$3,184.00	\$0.99	\$1,576.08	\$1,607.92
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	196.00	\$3.00	\$588.00	\$6.34	\$1,242.64	(\$654.64)



DISTRICT 2 W 16162K

NON-FEDERAL

				A-Bide	der	PS&	λΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	56.30	\$6.00	\$337.80	\$4.23	\$238.15	\$99.65
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	6.20	\$100.00	\$620.00	\$23.21	\$143.90	\$476.10
692.	MOBILIZATION	U	1.00	\$75,000.00	\$75,000.00	\$110,000.00	\$110,000.00	(\$35,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,150.00	\$1.00	\$2,150.00	\$1.00	\$2,150.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00

Total:

\$3,064,571.50

\$2,860,474.55 \$204,096.95